NN L L
R K B
T fE moH L =V ¥ & | HAL
RS R T
BT
) U T
EEERIREIET t=4cm 1.9 =1.9 2.00
m
A s BHEERUEZS t=4em  |MEIZSW =49. 42 49. 00
m?2
PR L=2. 3km 49, 42%0. 04 =1.98 2. 00
A s i EAEE m3
S g HE 5 Co [ 2 fe =1.27 1.00
BERR CoPERE m3
BEREM  L=2. 3km =1.27 1.00
EfHCo  BIEAE m3
REXE e — R, 2m 14%227kg =0. 57 0. 60
BEE%A" V/F7Y) 2=5400% 0. 227%2. 5 m3
BERSEM;  L=2. 3km =0. 57 0. 60
RS I EAE m3
YU ¢
A s 1.98%2.3/1.8 =2.53 2.50
m3
HERS C o 1.27%2.35/1.8 =1. 66 1.70
m3
TR 0.57%2.5/1. 8 =0. 79 0. 80
m3
+T
BEAR R | T THEESR =63. 1 63. 00
m3
B 7 we L) TTHEESR =4. 32 4. 00
m3
B AaER  L=2km 63. 1-4. 32/0.9 =58. 3 58. 00
LB m3
T =58. 3 58. 00
m3
FEEIE (0. 8%19. 35) +(0. 9%0. 9) +(0. 63¥2.0)  =17. 55 18. 00
PERE Kt m2




N B 8 FB ( HyiEkE )
O S TE  ( EEEE )
T A AoH L -V B & | HAL
PRRE T
/NRIGERE T
/NI ) CERE 3007 (0. 3+0. 7) /2%1. 0%19. 35 =9. 68 9.68
18-8-40BB m3
X|FEERA t=15em 0. 8+%19. 35 =15. 48 15. 50
RC-40 m?2
X HHAS BRE (0.3+0.7) /2%1. 0 =0.5 0. 50
1 Pt m2
/IR T
R T
FEWT B 2 B =2.0 2.00
400%500 m
X|FEEREA t=10cm 0. 63%0. 1%2. 0 =0. 13 0.13
RC—-40 %£#0.63m3,/10m4 m3
K|HEMEC o t=10cm 0. 63%0. 1%2. 0 =0. 13 0.13
18-8-25BB %£#0.63m3,/10m4 m3
AN =}C o 0. 4%0. 13%2. 0 =0. 1 0.10
18-8-25BB m3
JL—F 7% L=1m =2.0 2.00
KOV MEE 125 K
oKkt T
KB 50045004350 =1.0 1. 00
18-8-25BB =GR
Ml 7 U—1h 0. 8%0. 8%0. 5-0. 5%0. 5%0. 35 =0. 23 0.23
18-8-25BB m3
%[ 0. 8%0. 5%4+0. 5%0. 35%4 =2.3 2.00
m?2
TV —F 2 7FE 5004 =1.0 1. 00
A it T-25 e
BIEL
RFRHEAKRE VP ¢ 150 I 1hi 2 PR =1.1 1. 10
m
AT R E T
R T
BERPEREL C oMt =3.0 3. 00
e A




B ( ZEEE )

= Sl FE O SEpkR )
H

M E -V ¥ B |HAL

EAJE L t=40cm 14 1 2 =68. 58 69. 00
RC—40 m2
TREEET t=25cm [ i 2 B =126. 16 126. 00
RC—40 m2
FREEAEL t=10cm [ i 2 R =126.16|  126.00
M-25 m?2
T t=4cm i 2 R =126. 16 126. 00

PR As20F m2




N B 8 FB ( HyiEkE )
Lo RS TE  ( EEEE )
T fE | M A S S L
B R EE RS L
BT
+ T
EREEIREIET t=4cm 3.242.5 =6.0 6. 00
m
A s BEERUE t=dem |XE SR =55. 35 55. 00
m?2
PR L=2. 3km 55. 35%0. 04 =2.21 2. 00
A s i EAE m3
R I 0. 9%0. 35%21. 5 =6. 77 7.00
m3
B iE M L=2km =6. 77 7.00
EEY%T m3
TR =6. 77 7.00
m3
LU ¢
A s 7% 2.21%2.3/1. 8 =2. 82 2. 80
m3
iz ERE T
EE T T
N=ias 55. 35-19. 35 =36.0 36. 00
m?2
BAE T t=35cm 0.9%21.5 =19. 35 19. 00
M=40 m?2
FJE T t=4cm ENap 3 =55. 35 55. 00
AR As20F m?2
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O S TE( mEEE
T fE | MM H itoE R & | ¥er
R B 179 B Bl Eofn 2 & ALl T
HT3E 1 5 548
E¥+ T
R FI 1.28%1.5 =1.92 2.00
m3
HE SR =1.92 2. 00
m3
R 1.8%1.2 =2.16 2. 00
m?2
FEMET
A t=20cm 1.8%1.2 =2. 16 2.00
RC—40 m2
Fetfgas ) —h 1. 6%1. 0%0. 5 =0.8 0. 80
18-8-40BB m3
TR (1. 6+1. 0)*0. 5%2. 0 =2.6 2. 60

m?2




r T &% H & (AE9155/K)
o o | R ®_H RETER
T B s | mE® | F® | k| wEm | FH | hE | mEE | FH | 4R
0.00 1.6 0.1
1.00 1.00 3.2 2.40 240 0.3 0.20 0.20
10.00 9.00 2.6 2.90 26.10 0.2 0.25 2.25
19.35 9.35 4.8 3.70 34.60 0.2 0.20 1.87
5 &t 63.10 4.32






